

Physical Geography

Computer Application

Food, Nutrition and Hygiene

Hindi kavya

Elements of Map Reding and Interpretation

Sanskrit Pad sahitya evam vyakaran

### M.J.P. ROHILKHAND UNIVERSITY, BAREILLY

Result Sheet For B.A Ist Sem **EXAMINATION -2023 (MAIN)** 



	PERS	ONAL	DETAILS				G	TANAGE SA	355.25E
ROLL NO	230018	050116	6				- 2		
NAME	KM.CH	ANDRA	KALA				3	\$00 P	
FATHER'S NAME	KAMAL	A DUT	Т					da wid	444
MOTHER'S NAME	PUSHP	A DEV	I				8	74.5	
ENROLLMENT NO.	221169	99							
COLLEGE NAME	JAGDIS	SH SAR	RAN HINDU	J (P.G.) CO	LLEGE, A	MROHA			
CATEGORY	REGUL	AR							
	11611		MARKS	DETAILS					
PAPER NAME	The state of the s	CODE	PAPER CREDIT	EXT.MARKS	INT./PR.	TOTAL	GRADE	GRADE POINT	GP* Credits

4

2

6

6

3

18/25

21/25

22/25

21/25

34/40

50/75

60/75

35/75

54/75

53/60

52/100

68/100

81/100

57/100

75/100

87/100

52/100

B+

A

В

Α

A+

42301

32301

41601

41901

35026

49001

SGPA:155.0/21 7.38 Clear In - 49001

7.0

8.0

6.0

8.0

9.0

Result : PASS

28.0

16.0

36.0

48.0

27.0



A State University - Government of Uttar Pradesh
Accredited by NAAC with Grade 'A++'
Result Sheet For B.A IInd Sem
EXAMINATION -2023 (MAIN)



	PERSONAL	DETAILS					T.PHANAGAS	AVESCIE!
ROLL NO	230018050116	6				2	100	
NAME	KM.CHANDRA	AKALA				- 5	200 A	
FATHER'S NAME	KAMALA DUT	Т				2.0	- A	
MOTHER'S NAME	PUSHPA DEV	1				2	466.28	200
ENROLLMENT NO.	22116999							
COLLEGE NAME	JAGDISH SAF	RAN HIND	U (P.G.) COI	LLEGE, A	MROHA			
CATEGORY	REGULAR							
		MARKS	DETAILS					
SUBJECT NAME / PAPER NAME	PAPER CODE	PAPER CREDIT	EXT.MARKS	INT./PR.	TOTAL	GRADE	GRADE POINT	GP* Credits
Geography - Human Geography (Major)	42302	4	34/75	20/25	54/100	С	5.0	20.0
Geography - Thematic, weather and Geological Maps (Major)	32302	2	56/75	21/25	77/100	Α	8.0	16.0
Hindi Literature - karyalaye hindi aur comput (Major)	ter 41602	6	46/75	19/25	65/100	B+	7.0	42.0
Sanskrit - Sanskrit Gagh Sahitya, Anuvad ev sangnak anuproyog (Major)	am 41902	6	38/75	20/25	58/100	В	6.0	36.0
Political Science - Indian National Movemen Constitution of India (minor)	t & 42801	4	40/75	19/25	59/100	В	6.0	24.0
MS Office and Applications - MS Office and Applications (vocational-5)	35006	3	55/60	32/40	87/100	A+	9.0	27.0
Co-Curricular - First Aid and Health (Co-	49002		37/100	1	37/100			

SGPA :165.0/25 6.60 Clear In - 49002

PREVIOUS SEM-1 RESULT : PASS PREVIOUS SEM -1 SGPA : 7.38

Curricular)

Result : PASS Y.G.P.A - 6.96

Result Declaration Date: 18 - Nov - 2023 05: 45:PM



A State University - Government of Uttar Pradesh
Accredited by NAAC with Grade 'A++'
Result Sheet For B.A 3rd Sem
EXAMINATION -2024 (MAIN)



	PERSONAL	DETAILS					T PASSA AREA	aves co
ROLL NO 2	230018050116							
NAME	HANDRAKA	LA				3		
FATHER'S NAME	AMALA DUT	Т				3.0	A	
MOTHER'S NAME	USHPA DEV	1				2	445.5	200
ENROLLMENT NO. 2	2116999							
COLLEGE NAME J	AGDISH SAF	RAN HIND	J (P.G.) COI	LLEGE, A	MROHA			
CATEGORY	EGULAR							
	(431)	MARKS	DETAILS		a lo c			
SUBJECT NAME / PAPER NAME	PAPER	PAPER CREDIT	EXT.MARKS	INT./PR.	TOTAL	GRADE	GRADE POINT	GP* Credits
Geography - Statistical Techniques (Major)	32303	2	57/75	21/25	78/100	Α	8.0	16.0
Geography - Environment, disater Management and Climate Change (Major)	42303	4	44/75	20/25	64/100	В	6.0	24.0
Hindi Literature - Hindi Literature (Major)	41603	6	39/75	19/25	58/100	В	6.0	36.0
Sanskrit - Sanskrit Natak avm vyakaran (Maje	or) 41903	6	42/75	21/25	63/100	В	6.0	36.0
Vyabharic Hindi - Vyabharic Hindi (vocational	) 35056	3	52/60	28/40	80/100	Α	8.0	24.0
Co-Curricular - Human Values and Environmental Studies (Co-Curricular)	49003		61/100		61/100			

SGPA :136.0/21 6.48 Clear In - 49003

Result : PASS

(SEM-1): PASS, SGPA - 7.38 (SEM-2): PASS, SGPA - 6.60

Result Declaration Date: 15 - Jul - 2025 02: 01:PM



A State University - Government of Uttar Pradesh
Accredited by NAAC with Grade 'A++'
Result Sheet For B.A 4th Sem
EXAMINATION -2024 (MAIN)



	PE	RSONAL I	DETAILS					TIPING STATE	AVER CITA
ROLL NO	2300	18050116	ì				2		332
NAME	CHAI	NDRAKAL	_A				20	300 A	
FATHER'S NAME	KAM	ALA DUT	Т					A	
MOTHER'S NAME	PUSH	HPA DEV	ĺ				2	445.8	200
ENROLLMENT NO.	2211	6999							
COLLEGE NAME	JAGE	DISH SAR	AN HIND	J (P.G.) CO	LLEGE, A	MROHA			
CATEGORY	REG	ULAR							
			MARKS	DETAILS	0				
SUBJECT NAME / PAPER NAME		PAPER CODE	PAPER CREDIT	EXT.MARKS	INT./PR.	TOTAL	GRADE	GRADE POINT	GP* Credits
Geography - Surveying (Major)		32304	2	59/75	19/25	78/100	Α	8.0	16.0
Geography - Economic Geography (Major)		42304	4	39/75	19/25	58/100	В	6.0	24.0
Hindi Literature - Hindi Sahitya (Major)		31604	2	64/75	21/25	85/100	A+	9.0	18.0
Hindi Literature - Hindi Anuvad (Major)		41604	4	38/75	21/25	59/100	В	6.0	24.0
Sanskrit - Kavya Shaastra Aur Sanskrit Lek Kaushal (Major)	khan	41904	6	35/75	22/25	57/100	В	6.0	36.0
Political Science - Political Prosess in India (Minor)	1	42803	4	32/75	19/25	51/100	С	5.0	20.0
Vyabharic Hindi - Vyabharic Hindi (vocation	nal)	35056	3	52/60	34/40	86/100	A+	9.0	27.0
Co-Curricular - Physical Education and You (Co-Curricular)	ga	49004		43/100		43/100			

SGPA :165.0/25 6.60 Clear In - 49004

Result : PASS Y.G.P.A - 6.54

Result Declaration Date: 15 - Jul - 2025 01: 59:PM



A State University - Government of Uttar Pradesh
Accredited by NAAC with Grade 'A++'
Result Sheet For B.A 5th Sem
EXAMINATION -2025 (MAIN)



	PERSONAL	DETAILS				- 6	THE CASE	**************************************
ROLL NO	230018050110	6				2		
NAME	CHANDRAKA	LA				- 5	200 A	
FATHER'S NAME	KAMALA DUT	Т					A South	
MOTHER'S NAME	PUSHPA DEV	1				2	515 X S	44.5
ENROLLMENT NO.	22116999							
COLLEGE NAME	JAGDISH SAF	RAN HIND	U (P.G.) CO	LLEGE, A	MROHA			
CATEGORY	REGULAR							
	(4)	MARKS	DETAILS		n la			_
SUBJECT NAME / PAPER NAME	PAPER CODE	PAPER CREDIT	EXT.MARKS	INT./PR.	TOTAL	GRADE	GRADE POINT	GP* Credits
Hindi Literature - Sahityashashtra aur Hindi Alochana (Major)	41605	5	32/75	16/25	48/100	С	5.0	25.0
Hindi Literature - Hindi ka Rashtriya Kavya (Major)	41606	5	50/75	20/25	70/100	B+	7.0	35.0
Sanskrit - Vedic vadyam avam bhartiya darshan (Major)	41905	5	34/75	23/25	57/100	В	6.0	30.0
Sanskrit - Vyakran avam bhasha vigyan (Major)	41906	5	28/75	22/25	50/100	С	5.0	25.0

49032

49005

3

SGPA :139.0/23 6.04 Clear In - 49005

8.0

Result : PASS

24.0

(SEM-1): PASS, SGPA - 7.38 (SEM-3): PASS, SGPA - 6.48

Report - Sanskrit (Major)

Awareness (Co-Curricular)

Sanskrit - Industrial Training Research Survey

Co-Curricular - Analytical Ability and Digital

(SEM-2): PASS, SGPA - 6.60 (SEM-4): PASS, SGPA - 6.60

82/100

45/100

82/100

45/100

A

Result Declaration Date: 15 - Jul - 2025 01: 54:PM



A State University - Government of Uttar Pradesh Accredited by NAAC with Grade 'A++' Result Sheet For B.A 6th Sem **EXAMINATION -2025 (MAIN)** 



PERSONAL DETAILS	
230018050116	
CHANDRAKALA	
KAMALA DUTT	
PUSHPA DEVI	
22116999	
JAGDISH SARAN HINDU (P.G.) COLLEGE, AMROHA	
	230018050116 CHANDRAKALA KAMALA DUTT PUSHPA DEVI 22116999



	COLLEGE NAME	JAGDISH SARAN HINDU (P.G.) COLLEGE, AMROHA
1	CATECORY	DECLILAD

CATEGORY	REGULAR
----------	---------

	MARKS DETAILS										
SUBJECT NAME / PAPER NAME	PAPER CODE	PAPER CREDIT	EXT.MARKS	INT./PR.	TOTAL	GRADE	GRADE POINT	GP* Credits			
Hindi Literature - mokhiki evam pariyojna karya (Major)	31602	2	80/100		80/100	Α	8.0	16.0			
Hindi Literature - Bhasha vigyan hindi bhasha tatha devnagri lipi (Major)	41607	4	40/75	20/25	60/100	В	6.0	24.0			
Hindi Literature - lok sahitya evam lok sanskriti (Major)	41608	4	45/75	18/25	63/100	В	6.0	24.0			
Sanskrit - Aadhunik sanskrit sahitya (Major)	41907	5	54/75	20/25	74/100	B+	7.0	35.0			
Sanskrit - Yog evam prakritik chikitsa (Major)	41908	5	42/75	19/25	61/100	В	6.0	30.0			
Sanskrit - Industrial Training Research Survey Report - Sanskrit (minor)	49032	3	77/100		77/100	Α	8.0	24.0			
Co-Curricular - Communication Skill and Personality Development (Co-Curricular)	49006		55/100		55/100						

SGPA:153.0/23 6.65 Clear In - 49006

Result : PASS CGPA - 6.62

(SEM-1): PASS Cleared in 49001, SGPA - 7.38 (155/21) (SEM-2): PASS Cleared in 49002, SGPA - 6.60 (165/25) (SEM-3): PASS Cleared in 49003, SGPA - 6.48 (136/21) (SEM-4): PASS Cleared in 49004, SGPA - 6.60 (165/25)

(SEM-5): PASS Cleared in 49005 SGPA: 6.04 (139/23) **First Division** 

Result Declaration Date: 30 - Jul - 2025 12: 27:PM